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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm ©̀V… {bI|&
Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) g^rg^rg^rg^rg^r àíZ H$aZo A{Zdm ©̀ h¢&
All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI|&
Write the answer to each question in the given answer-book only.

4) {OZ àíZmo§ _| AmÝV[aH$ IÊS> h¡§, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&
For questions having more than one part, the answers to those parts are to be
written together in continuity.
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5) àíZ nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVaU _o| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr ^mfm
Ho$ àíZ H$mo hr ghr _mZ|&

If there is any error / difference / contradiction in the Hindi & English versions
of the question paper, the question of Hindi version should be treated valid.

6) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$‘m§H$ Adí¶ {bI|&

Write down the serial number of the question before attempting it.
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IÊS> - A
SECTION - A

1) ~hþ{dH$ënr àíZ (i go xvi) {ZåZ{b{IV àíZm| Ho$ CÎma H$m ghr {dH$ën MwZH$a CÎma nwpñVH$m ‘| {b{IE>&
Choose the correct answer from multiple choice questions (i to xvi) and write in

given answers book.

i) nwînm| H$s IoVr go ³¶m VmËn¶© h¡? [½]
A) âbmoarH$ëMa ~) EonrH$ëMa
g) goarH$ëMa X) nrgrH$ëMa
What is meant by flower cultivation?

A) Floriculture B) Apiculture

C) Sericulture D) Pisciculture

ii) H$m¡Zgr H$mo{eH$mE± ewH«$mUwAm| H$m {Z‘m©U H$aVr h¡? [½]
A) Vw§{~H$m ~) Za O‘© H$mo{eH$mE±
g) ñQ>m}br H$mo{eH$mE± X) H$snH$
Which cells form sperms?

A) Ampulla B) Male germ cells

C) Sertoli cells D) Infundibulum

iii) H$m¡Zgo AmZwd§{eH$ {dH$ma ‘| EH$ X H«$mo‘mogmo‘ H$m A^md hmo OmVm h¡ Am¡a qbJ H«$mo‘mogmo‘ XO hmo OmVo
h¡? [½]
A) S>mCZ qgS´>mo‘ ~) ³bmBZ’o$ëQ>a qgS´>mo‘
g) W¡bogr{‘¶m X) Q>Z©a qgS´>mo‘
In which chromosomal disorder one X chromosome is missing and the sex
chromosome becomes XO?

A) Down's syndrome B) Klinefelter's syndrome

C) Thalassemia D) Turner's syndrome

iv) ~m°¶moJ¡g ‘| ‘w»¶V… H$m¡Zgr J¡g em{‘b h¡? [½]
A) àmonoZ ~) ã¶yQ>oZ
g) ‘rWoZ X) EWoZ
Which gas is predominantly included in biogas?

A) Propane B) Butane

C) Methane D) Ethane

[ Turn Over
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v) g‘wÐrKmg go {ZH$mbm J¶m àmH¥${VH$ ~hþbH$ h¡ - [½]

A) ~¡Ho$bmBQ> ~) bo³gZ

g) aoe‘ X) EoJmamoO

Natural polymer extracted from sea weed is -

A) Bakelite B) Lexan

C) Silk D) Agarose

vi) H$nmg ‘| ‘wHw$b H¥${‘ H$mo {Z¶§{ÌV H$aZo dmbm àmoQ>rZ H$m¡Z-go "H«$mB©' OrZ Ûmam Hy$Q>~X²Y h¡? [½]

A) I-Ac ~) I-Ab

g) II-Ac X) I-Ac Ed§ II-Ab

Which 'Cry' gene codes for the protein that controlled the cotton boll worm?

A) I-Ac B) I-Ab

C) II-Ac D) I-Ac and II-Ab

vii) Cgr Om{V Ho$ ì¶{ï> Omo Xr JB© g‘¶ Ad{Y Ho$ Xm¡amZ Amdmg ‘| H$ht Am¡a go AmE h¡, ³¶m H$hbmVo h¡?
[½]

A) OÝ‘Xa ~) ‘¥Ë¶wXa

g) AmàdmgZ X) CËàdmgZ

Number of individuals of same specie that come into the habitat from elsewhere
during given time period are called?

A) Natality B) Mortality

C) Immigration D) Emigration

viii) g‘yÐ ‘| O¡d ‘mÌm (^ma) Ho$ {na¡{‘S> H$m¡Zgr AdñWm ‘| ì¶º$ hmoVo h¡? [½]

A) àm¶… CëQ>o ~) gX¡d CëQ>o

g) gX¡d I‹S>o X) àm¶… I‹S>o

In which state, the pyramid of biomass represented in the ocean?

A) Generally inverted B) Always inverted

C) Always upright D) Generally upright
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ix) {ZåZ{b{IV ‘| go H$m¡Zgo g§ajU àH$ma ‘| g§H$Q>mnÞ Om{V¶m| H$mo CZHo$ àmH¥${VH$ Amdmg ‘| gwa{jV aIm
OmVm h¡? [½]

A) BZ {ddmo ~) ñdñWmZo

g) nyd©ñWmZr¶ X) ~mø ñWmZo

In which of the following conservation type endangered species are protected
in their natural habitat?

A) In vivo B) In situ

C) former local D) Ex situ

x) ß¶yarZ ZmBQ´>moOZr jma h¡ - [½]

A) gmBQ>mogrZ ~) ES>oZrZ

g) ¶yaogrb X) WmB‘rZ

Purine nitrogenous base is -

A) Cytosine B) Adenine

C) Uracil D) Thymine

xi) {ZåZ{b{IV ‘| go H$m¡Zgm àmUr AJ«nmX H$s ApñW¶m| ‘| g‘mZVm Zhr Xem©Vm - [½]

A) ˆob ~) M‘JmX‹S>

g) MrVm X) Am³Q>mong

Which of the following animal does not show similarity in bones of fore limbs-

A) Whale B) Bat

C) Cheetah D) Octopus

xii) àmoQ>moOmoAZ, Omo A{Vgma H$m amoJH$maH$ h¡ - [½]

A) A‘r~m ~) EoñHo$[ag

g) ’$mBbo[a¶mB© H¥${‘ X) ßb¡Á‘mo{S>¶‘

Protozoan, the pathogen of dysentery protozoan is -

A) Amoeba B) Ascaris

C) Filarial worm D) Plasmodium
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xiii) H$m¡Zgr nmañn[aH$ {H«$¶m ‘| EH$ Om{V H$mo bm^ hmoVm h¡ Am¡a Xÿgar H$mo Z hm{Z Z bm^ hmoVm h¡- [½]

A) ñnYm© ~) naOr{dVm

g) gh^mo{OVm X) ghmonH$m[aVm

In which interaction, one species get benefits and other one neither harmed
nor benefited -

A) Competition B) Parasitism

C) Commensalism D) Mutualism

xiv) nm[apñW{VH$ V§Ì H$s eãXmdbr ‘| hao nmXn H$mo H$hm OmVm h¡ - [½]

A) CËnmXH$ ~) àmW{‘H$ Cn^moº$m

g) {ÛVr¶H$ Cn^moº$m X) AnKQ>H$

The green plants, in the vocabulary of ecosystem, are called -

A) Producer B) Primary consumer

C) Secondary consumer D) Decomposer

xv) ¶m¡Z g§Mm[aV amoJ H$m CXmhaU h¡ - [½]

A) h¡noQ>mB{Q>g - E ~) h¡noQ>mB{Q>g - B©

g) ‘Yw‘oh X) gwOmH$

An example of sexually transmitted disease is -

A) Hepatitis - A B) Hepatitis - E

C) Diabetes D) Gonorrhea

xvi) gd©àW‘ {H$VZo O¡d{d{dYVm hm°Q>-ñnm°Q> {MpÝhV {H$¶o J¶o Wo? [½]

A) 23 ~) 24

g) 25 X) 26

Initially, how many biodiversity hot spot were identified?

A) 23 B) 24

C) 25 D) 26
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2) [a³V ñWmZm| H$s ny{V© H$s{OE :

Fill in the blanks :

i) namJ H$U ‘mV¥ H$mo{eH$m go AÕ©gyÌr {d^mOZ Ûmam bKw~rOmUwAm| Ho$ {Z‘m©U H$s à{H«$¶m H$mo ...........
H$hVo h¡& [½]

The process of formation of microspores from a pollen mother cell through
meiosis is called _________.

ii) A§S>moËgJ© ............. Zm‘H$ hm°‘m}Z Ûmam ào[aV hmoVm h¡& [½]

Ovulation is stimulated by a hormone called _________.

iii) AOZH$s¶ OrZ g§¶moOZm| Ho$ CËnmXZ H$mo ............. H$hm OmVm h¡& [½]

The product of non-parental gene combinations is called _______.

iv) am‘m{n{W³g A{YH$V‘ ............ O¡go Wo& [½]

Ramapithecus was more ________ like.

v) ............. S>rEZE H$mo ^rVa {d{eï> ñWbm| na H$mQ>Vo h¡& [½]

__________ cut at specific positions within the DNA.

vi) {H$gr joÌ H$s O¡d{d{dYVm H$s hm{Z go nmXn CËnmXH$Vm ............ h¡& [½]

Loss of biodiversity in a region may lead to _______ plant productivity.

vii) gyÌH¥${‘ {‘ëdmS>oJmBZ BZH$moJZr{e¶m .............. Ho$ nm¡Ym| H$s O‹S>m| H$mo g§H«${‘V H$a CgH$s n¡Xmdma
H$mo H$m’$s H$‘ H$a XoVm h¡. [½]

Nematode Meloidegyne incognitia infests the roots of ____________ plant
and causes a great reduction in yield.

viii) Omo amoJ EH$ ì¶{º$ go Xÿgao ‘| AmgmZr go g§Mm[aV hmo gH$Vo h¢, CÝh| ............ amoJ H$hVo h¡& [½]

Disease which are easily transmitted from one person to another are called
________ disease.

ix) H$dH$ Q´>mBH$moS>‘m© H$m Cn¶moJ ............ amoJm| Ho$ CnMma ‘| {H$¶m OmVm h¡& [½]

For the treatment of ________ diseases, the fungus Trichoderma is used.

x) S>rEZE Ho$ EH$b jma ¶w½‘ Ho$ n[adV©Z ^r ............. H$mo OÝ‘ XoVo h¡& [½]

_________ arise due to change in a single base pair of DNA.

[ Turn Over
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3) {ZåZ{b{IV àíZm| Ho$ CÎma EH$ eãX AWdm EH$ n§{ŠV ‘| Xr{OE :

Give the answers of the following questions in a word or a line -

i) ‘mVm go IA Abrb d {nVm go IB Abrb àmßV H$aZo dmbr g§V{V H$m é{Ya dJ© H$m¡Zgm hmoJm? [1]

Which will be the blood group of the progeny getting IA allele from mother
and IB allele from father?

ii) {hñQ>moZ Aï>H$ H$mo n[a^m{fV H$s{OE& [1]

Define histone octamer.

iii) A{^gmar {dH$mg go ³¶m VmËn¶© h¡? [1]

What is meant by convergent evolution?

iv) O¡d gyMZm {dkmZ ³¶m h¡? [1]

What is bioinformatics?

v) hmo‘moh¡{~{bg ‘mZd H$s OrdZ e¡br H$m EH$ CXmhaU {b{IE& [1]

Write an example of life style of Homohabilis man.

vi) ‘mZd ‘| H$m¡Zgo OrdmUw go Q>m°B’$mBS> Áda hmoVm h¡? [1]

Which bacteria causes typhoid fever in human?

vii) O¡d Cda©H$m| Ho$ Xmo CXmhaU {b{IE& [½ + ½=1]

Write two examples of biofertilisers.

viii) go~ ‘o§ nwîn H$m H$m¡Zgm ^mJ ’$b H$m {Z‘m©U H$aVm h¡? [1]

Which part of the flower produces fruit, in apple?

IÊS - ~
SECTION - B

bKw CÎmar¶ àíZ (CÎma eãX gr‘m 50 eãX) :
Short answer type questions (Answer word limit 50 words) :

4) g§dmhH$ ‘| ³bmoqZJ H$aZo hoVw, {H$gr EH$ {deofVm H$mo {b{IE& [1½]
Write any one feature, required to facilitate cloning into a vector.

5) {M{H$Ëgm ‘| O¡d-àm¡Úmo{JH$s Ho$ H$moB© EH$ Cn¶moJ H$mo {b{IE& [1½]
Write any one application of biotechnology in medicine.
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6) {Û-{ZfoMZ (Xmoham {ZfoMZ) H$mo g‘PmBE& [1½]

Explain double - fertilisation.

7) {H$Ýht VrZ A§V… J^m©e¶r ¶w{º$¶m| Ho$ Zm‘ {b{IE& [½+½+½=1½]

Write name of any three intra-uterine devices.

8) AnyU© à^m{dVm H$mo EH$ CXmhaU Ûmam g‘PmBE& [½+1=1½]

Explain incomplete dominance with an example.

9) Ob-dm{hV amoJm| H$s amoH$Wm‘ Ho$ Cnm¶ g‘PmBE& [1½]

Explain preventive measures for water-borne diseases.

10) O¡d-{d{dYVm H$s j{V Ho$ EH$ H$maH$ H$mo g‘PmBE& [1½]

Explain one cause of biodiversity loss.

11) nmaOrdr O§Vw H$s amoJm| Ho$ AÜ¶¶Z ‘| ŷ{‘H$m H$mo g‘PmBE& [1½]

Explain role of transgenic animal in the study of diseases.

12) EH$ àménr àVr¶ ~rOm§S> H$m Zm‘m§{H$V {MÌ ~ZmBE& [1½]

Draw a labelled diagram of typical anatropous ovule.

13) EH$-g§H$a H«$mg H$m AmaoIr¶ {MÌ ~ZmBE& [1½]

Draw a schematic diagram of monohybrid cross.

14) ~m¶moJ¡g g§¶§Ì H$m Zm‘m§{H$V {MÌ ~ZmBE& [1½]

Draw a labelled diagram of biogas plant.

15) EH$ gmYmaU {dbmoS>H$ hmoO ~m¶mo[a³Q>a H$m Zm‘m§{H$V {MÌ ~ZmBE& [1½]

Draw a labelled diagram of simple stirred tank bioreactor.

[ Turn Over



10

6029SS–42–Biology

IÊS> - g

SECTION - C

XrK© CÎmar¶ àíZ (CÎma eãX gr‘m 100 eãX) :

Long answer type questions (Answer word limit 100 words) :

16) g‘{ï> d¥{Õ H$mo n[a^m{fV H$s{OE& g‘{ï> d¥{Õ Ho$ H$moB© Xmo ‘m°S>bm| H$m Zm‘ {b{IE& [1+1+1=3]

Define population growth. Write any two models of population growth.

AWdm/OR

g‘{ï> d¥{Õ ‘| KZËd H$mo ~‹T>mZo dmbo àH«$‘m| H$mo g‘PmBE& [1½+1½=3]

Explain processes that increase density in population growth.

17) ewH«$OZZ H$s à{H«$¶m H$mo g‘PmBE& [3]

Explain the process of spermatogenesis.

AWdm/OR

A§S>OZZ H$s à{H«$¶m H$mo g‘PmBE& [3]

Explain the process of oogenesis.

18) AmZwd§{eH$ Hy$Q> H$s {H$Ýht VrZ à‘wI {deofVmAm| H$mo g‘PmBE& [1+1+1=3]

Explain any three salient features of genetic code.

AWdm/OR

S>rEZE A±Jw{bN>mnr (S>rEZE q’$Ja {àqQ>J) H$s Cn¶mo{JVm H$mo g‘PmBE& [3]

Explain application of DNA fingerprinting.



11

6029SS–42–Biology

IÊS> - X
SECTION - D

{Z~ÝYmË‘H$ àíZ (CÎma eãX gr‘m 150 eãX) :
Essay type questions (Answer word limit 150 words) :

19) i) ñd à{Vajm H$mo n[a^m{fV H$s{OE&
ii) ‘mZd eara ‘| à{Vajm V§Ì H$mo g‘PmBE&
i) Define auto immunity
ii) Explain immune system in human body.

[1+3=4]
AWdm/OR

i) à{VajrH$aU H$mo n[a^m{fV H$s{OE&
ii) g{H«$¶ Am¡a {ZpîH«$¶ à{Vajm H$mo g‘PmBE&
i) Define immunisation.
ii) Explain active and passive immunisation.

[1+1½+1½=4]

20) i) AnaX ImÚ l¥§Ibm H$mo n[a^m{fV H$s{OE&
ii) ImÚ Omb H$mo CXmhaUm| Ûmam g‘PmBE&
i) Define detritus food chain.
ii) Explain food web with examples.

[1+3=4]
AWdm/OR

i) nm[apñW{VH$ {na¡{‘S> H$mo n[a^m{fV H$s{OE&
ii) O¡d^ma {na¡{‘S> H$mo g‘PmBE&
i) Define ecological pyramid.
ii) Explain pyramid of biomass.

[1+3=4]


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